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6. Připomínky a otázky k obhajobě:

Martin, your work clearly shows a substantial effort exerted to grasp and cover your challenging topic. Unfortunately, it also displays a number of inadequacies, the worst of them being the absense of any kind of summarizing conclusion. Your Abstract does not cover the whole range and focus of your project.Your Introduction does not explain what contribution your work makes in the area of English language teaching. There is no list of abbreviations. There is an inconsistency in using italics to mark examples. Moreover, some of the English examples are accompanied by their Czech translations, while other are not.

Your theoretical research into English and Czech grammars and  books on frequent learners´ mistakes is not   altogether bad – it is a sincere attempt to compile a comprehensive account of differences and similarities in the selected areas. However, your choice of relevant facts is not always logical. Some areas are covered in much detail (e.g. nouns) while other are dealt with selectively (e.g. determiners) . Why do you think verbs are less problematic for Czech learners of English (as you write in your Introduction)  than the word classes you have chosen to cover? 

The practical analysis of students´ essays is not very well accounted for in your project. Some parts of it lack any reference to your corpus. The empirical findings could have been presented in a more effective way, for instance in the form of a table clearly showing which of the supposedly difficult areas did/did not prove problematic and to what extent. 

P. 6: Do all mistakes students´ make result from linguistic differences between English and Czech?

P. 7:  Why do you think students´sex influences the nature of mistakes they make?

On p. 8 you claim that morphology and syntax are the main parts of Czech grammar. What are the  main parts of  English grammar, then? 

 On p. 9 you explain that in the English word forms corresponding to Czech cases (e.g. apple/without an apple) the ending remains the same. How would you define ending as a grammatical term? 

 On p. 10 you claim that  „Open classes can be extended by the process of derivation“ . Can you explain what derivation means? 

On p. 12 you discuss the difference between concrete and abstract nouns. How useful, do you think,  is it for learners of English to be able to distinguish between the two? Does it really matter whether rainbow is concrete of abstract? 

On p. 16 you state that the plular -es ending is used when it is necessary because of pronunciation. Is this always true?  

On p. 17 and 18 you mention the terms plularia tantum and singularia tantum as used only in Czech linguistics. Are they not used in English linguistics as well ?

What do you mean by „cardinal numerals of nouns“?

On p. 19 you explain that „Indefinite article means a  small number one“. What do you mean? 

P. 21: How did you correct the essays in your corpus?  Making a number of ´article mistakes´ yourself, are you confident that you had in fact spotted and marked all the instances of incorrect article usage? Did you consult anybody else? 

Explain the use of articles in these two sentences: 

There were 14 cases in which the article „the“ was used, although learners had been writing about various things in general.(p. 21)

The wrong use of English reflexive pronouns can change the meaning. (p. 26)

P. 22: Are the words his and these pronouns or determiners? How can one tell?

Concerning you example all the village, which you marked as wrong: The British National Corpus includes the following examples: All the village had gone to earth. The Jews destroyed all the village. Can you comment on them? 

On p.24 you explain that the independent pronouns „often stand alone somewhere else in a sentence“. Is it often or always?

On p. 25 you maintain that the phrase my friend means „the only one I have“.  Is it always true?  Consider, for instance, this sentence: He is my friend.

P. 27: How easy do you think it is for Czech learners of English to use this/that correctly?  How do you translate the Czech demonstrative to? 

P. 28: In what way does the English construction which of differ from the Czech construction který/á/é z? Is nothing really an idefinite pronoun, as you suggest?

P. 31: Explain why English native speakers use the preposition in in the following examples: in the desert, in the field, in the square. 

What is the meaning of at  in these examples: at the corner, at the table (neither of the nouns denoting buildings)? 

Why do you compare under/below to in front of/opposite rather than to above/over? 

P. 32: Does your corpus really contain just a single mistake in the usage of prepositions? 

In the light of some other mistakes you mention, e.g. *the our forest on p. 22 or the pronoun her refering to a library on p. 14, it seems close to impossible. In the same way, I find it difficult to believe that the students´did not have any problem with using English tenses, as you claim in your Resumé. 

P. 34: Concerning your claim that despite of does not exist see e.g. http://english.stackexchange.com/questions/5634/is-it-despite-or-despite-of . 

Finally, why did you choose l(in your Resumé) to translate the English term determiners as determinátoři?

Závěr:

Přes řadu nedostatků doporučuji práci k obhajobě s doporučením, aby se student na obhajobu pečlivě připravil.

Navržený klasifikační stupeň: …..dobře.........................

V Olomouci dne    5. 8. 2011                                                        ...............................................

